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3. IESKAITE MATEMĀTIKĀ 12.kl.

Logaritmiskie vienĀdojumi un nevienĀd Ī bas 
	1. variants
	punkti
	2. variants

	1.Aprēķināt.

1) log416;                                                                                        
2) log264+ log5125;                                                                        

3) log0,25+ log0,4
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;                                                                       
4) log7log0,5
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5) 2) log1545 + log155                                                                      
6)  
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	1.Aprēķināt.

1) log464;                                                                                        
2) log232+ log525;                                                                        

3) log0,225+ log0,4
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;                                                                       
4) log6log0,5
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5) 2) log1236 + log124                                                                      
6)  
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	2.Atrisināt vienādojumus.

1)  
[image: image7.wmf]x
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= 3;                                                                               
2) logx0,36 = 2;                                                                            
3) lg(x2 –17) = lg(x+3); 

4) log22x – 5log2x +4 = 0.    
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	2.Atrisināt vienādojumus.

1)  
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= 5;                                                                               
2) logx0,49 = 2;                                                                           
3) lg(x2 –1) = lg(5x –7);  

4) log23x +log3x – 2 = 0.                                                                       

	3. Atrisināt nevienādības:
1) log 0,5(x2- 6x) < 0   
2) lg(x2 – 2x – 2) ( 2lg2 – lg4      
3) 2log0,5x>log0,5(x+
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	3. Atrisināt nevienādības:

1) log0,3(x2 – 4x) > 0.      
2) lg(x2 + x – 3) > lg6 – lg2 
3) log0,5(1-3x)>1+log0,5(x+2)                                                                               
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